BFER

EBIESEFEEAPACKING LIST

FF: I"HFRBRIERA 1#2#

1,FESH:

TE: H2023011213-1214 EEMEERE 5000kg
FERERY |THJ 5000kg / 0.5 - IXVF EHE: BR4K52 3000 + —A1L
B/uk 5/5/10 HER:

AR | 2600x5900x2700 FIIRT: h53PUR52500 x 2600
2 fES5I%E:

FS &R FEEH RY  |[8%&5H &F
1 |FBE8%E  |#=HiE, B8, HRBSEERTESTE ]

2 ||REME  |FRERE, MIKIEEE, BIPE, HIPEWR R B R

3 |fEikdE  |BEMR, TR, I OHE, BRI, MUBLE, e ]

4 |iRFE |BIJR, BIIE ] FT— AR
5 |HE  (WBERFHERY, BEeTREY, 25 ]

6 |SIZEASHXER, HE, A, SHES, 182 ]

7 |85 |R3IHREMS A

8 |IIWFE  |ITALRERIIMBIRAB N, 1Re2 ]

9 |I"kME  |BIEESAN, 18 ]

10 |EZE | ENZR, SRRTEE, SER BRI

11 |5 LER | ERRIBRAAA M BRI

12 R TR | TR EEaES

13 |zt SRS B, WE BRI

14 |MEE  |WEZR, WEREE, FRERNT, ES EEEaES

15 [FER |FKEFR, BIR, B, Bk EEEaES

16 M2t |24, R5|NLLE N4

17 [JEHR  |RIER R

18 |emrissr| S, HBIRE R
EFESMHES: 19 s

TR TEEIMNE, LI EA—BR0ER H2E

Hlz&: B 0000000 HE: [&i&:
BIEEINEYL : =):H

UL : HHA:

R MNEAERENEREN L. 8k, RERFIERE, NMEAREZBE=ATEH




MR BE R

2= H2023011213-1214 B/¥E/11 5 / 5 / 10
FEmis THJ 5000kg / 0.5 — JXVF BN RS 2600 X 5900 X 2700
L IRET IR RIS TS 1404 FIIERERT AAPURS : 2500 X 2600
A |5 | AR % G E5 /M5 Zz K i GFF &5t T BAr % IE
K. 1-2838 IR, B8k
1| % AL Aebrb T B B | RChF258HIM, &
FEE: LR, g AR S 3‘25}%{{1‘&\ E%Tﬁ
e SR ks b A 392X 130 2 1 5 R
PAe 5 A A JEFRFE KBE: L=2796 2 £ | 14, SRS R
Y Y 7 AEFRFE 260X 130 8 1% 555 FRAEI )
A TR A1 AN JEbR K. 1=390 4 £ 0235t
W HIige L& e A KRE: L=340 2 f 0
AT BRIk N e K. 1L=510 2 £ 0
* BRI SRR BRI K. 123960 2 % 2284
Y SR BB KJE. 1=3446 4 % 148 H4R
DAY P JEbR B E K:Ji: 1=5560 2 2% 142454
IAS EiEs SRR AP 2664 X 5900 1 B | rommi, SRESCmmR
e Tl AR ek b A 240X 378 2 1 LR
A FRA e E KB 1-2838 1 | oo, SEMRER
* 55 R e E K. 122796 2 £ | 4, SRS
X LIRUTE /A = JERBH B B H=1100 1 %= 2%7ﬁéégﬂ£it
o A M A JEFR B E K. 1=710 2 f 4235, t4
na A RHAT e E K. L=2750 4 2k [M2ofikF, m3AEEE/%
DA BHAT AEFRFE KFE: L=2050 4 2% |M20HIAT, BU3AMREE/
2 | A U e A 18%H, 74/ : 180 4 A 5 EgsEE
6 | A Rl JEFR B E 400-8-10-15%5%k 4 2 A
11 ] % AT bRt it @20 FiAF 8 A JiCM18X90 12 44
16| A & EK il 4 A AR R
BRI A e dk S e i ais 130X 50 X 50 4 A Pl
19 | % 5 K IE L=3000 1 %
20 | * 5 DB10—4 K. 1L=270 2 Jas
21 | % T E RN A DB10-9. 1 220%65 1 = ERhE
22 | ¥ P b PN S DB10-9. 2 265%80 + 70%80 1 = bR
24 | e R btk B L=400 2 z eI
25| A B FCT127/B, %% FLIET5X75 H104 H k-5 5 4 A
26| A BRI BCT75/B, ZZ3EFLEE75X75 H102 5546 5 i 8 A
—
25 | A ST JrsAE Wi | s A ot G
. SX105 B 5 22 4 npey (qun|  CVFEJRE « 11000KG6 1 A
s el P SRAATD AN | B0, Su/s i 16 m | ' 1520
21| A TAER NI fek s, BB 2595 1 £ RelicrE FR B
28 | * L RUKSH 37 28 1 f ReficdE B E
SREERRL L. SmmEA AR I CK 3 £5,90185)
29 | ¥ HITEEAR 1=90, H=2600 1 1
30 | % Ja HHEERR L=0, H=2700 0 {4
&7 | 31| ¥ MG J5EERR 1=360, H=2700 4 i
Be | 32 [ ¥ i) AR =500, H=2700 20 £ | 2R A AL
33 | ¥ HITEEAR 1=132, H=2600 2 1
34 | ¢ HTEERR 1.=90, H=2600 1 i
35 | ¥ BRI 1=2664, H=100 2 LG R4 Y 55 2500
26 A A Bh T 8 S SAFERD L63X63X6 L=250 140 4 FLAE13
A SRS L63X63X6 L=200 140 4 LZ13
37| A TGRS L75X 75X 7 L=300 35 F L2183
A SRR L75X 75X 7 L=350 35 LG Li218
38 Rl S B L75X 75X 7 L=200 70 s FLIZ18
A TR SR F L75X 75X 7 1=1360 70 | XER&E, FLRIS
e | 39 A Bl 3 4 L75X 75X 7 1=2192 35 fF FLIZ18
" A S E S L63X63X6 L=1360 140 4 fLiZ13
40 | A Ll N L75X 75X 7 L=2 0 F FLIZ18
41 | A RHEFERD L50 X 50X 5 L=100 0 LG LAE13
42 | A RHE L50 X 50 X 5 L=500 1
5K/ 4| B0 18 % .
; A B ESH T127/B 37'63:,%/% j;i 5 i 96 *
i 5K/ kB 36 % .
A B T75/B K &, 1 & 192 ¥

[l




I

B E &

RS H2023011213-1214 B/¥/17 5 / 5 / 10
RS THJ 5000kg / 0.5 — JXVF BRART 2600 X 5900 X 2700
-9k IR AR SE TS 1Ho# FIIHRERT R PUE - 2500X 2600
RAE | 5 [ BRiR % P K5/ R B G &1 Wk B4 %I
N 5K/ %\ B 18 4% .
4 | A P S TK5A YTy Fa—— 96 PN
45 | A ESHUEEAR T127/B 18 lis
A i FHUEER T75/B 36 i
46 | A Bl F PUE AR TK5A 18 1
47 | A EEYER T127/B 24K 150 A | FHE SRR
A LS EUERY T75/B 8K 290 H
g |48 A Rl FEURTD TK5A 5K 166 H
Mol49 | A T SHIE T127/B 24K 30 H FRA A2
50 | A R S A R e b A KJEL=950, FLEE156x156 2 4 it LD-HC-L17
51| A EIERR NER B TKSABL FLEE100, ®13X40 0 H SIERER
52 | A o R 2 v B LD-HC-L17, FLFE156x156 KJFL=950 2 P i
53 | % S BLT127/B% £=0.5mm, 1.2mm 130 lis JE %2
* S it T75/B%) €= 0.5mm, 1.2mm 260 i JEHR
54 | % S Jit TK5A%H £=0.5mm, 1.2mm 130 f JE
55 | A RIS & 3R 8 A
56 | Y¢ Xt 42 (5000KG) e E 1880 X 5000 1 £ RN
57 | S E AR e E 208 X 360 2 i 0
58 | ¢ EEEI e E 140X 180 4 ff 0
59 | ¢ o EL R AR EIEE 180X 48 6 | AR 2
60 | ¥ LB e E 1072 X785 4 fF KA
x| 61 | ¥ FBIFR HEbr b A 1072 X 785 2 4 KR
#H 62| K E AR S A e E L=520 8 lis 0
63 | ¢ MR ks A 500 X 785 6 4 0
57 | A ] M S A 0 fF SHE
58 | A X E e i A 400-8-10-15 2 A 2 i AE X T R
60 | A Yo} B bR e E 910X 400 X 60 120 | k135, 62kg/ 1
61 | A X E T I HEIH BLTK5ARL Bt atit. B=17 4 A il LU A
il 70 | A N R G LD-HC-L17 2 A
1| A XF LR ZE LD-HC-L17 2 A
72 | ¥ JRITIEES R H=1500 2 i
fiEzbE WEREE : 0.5 m/s
5| A PR AsG60T W . ©8 m ! £ e
ok B B KR
- 74| % R EAR S JEFR B E L=430 9 fF B T127/B%
i 75 | * FRAFH S 48 e A L=390 4 4 ficT127/B% H
77| * R AR DB10-7 300 X 80 9 % 1%
81 | A B 8%19S+NF-10 HfE: ©10 1648 K 206K X 8%
82 | A PRS A AN 22 48 8+19s+PP-8 HfE: ©8 98 k% 98K X 1%
ff 83| A HL3k oF] 6 A
@ 84 | A i Ay @10 M 48K | 16 £
85 | A Je LR g il LU A 0 0 = 4; 1TCi%I
86 | A fish S A S 4 {HE] 180+55 1 NP,
87 | A REEIT S W ] L20%80%50 ] E | R ORI
8 #E: 5000kg Aid: 0.5m/s
;IL 87 | A EELEIL MCK500 %ﬁg%ézl 1};}51.1106\} Sl a SR
4R%s. D480-8-10-15
FTiEH %29 26w



M oE R

% %

RS H2023011213-1214 B/¥/17 5 / 5 / 10
FERRE THJ 5000kg / 0.5 — JXVF BRA RS 2600 X 5900 X 2700
Ik Y IR E T 1424 T8 KR~ DU - 2500X 2600
AR 5| ARl 4 i K5 /35 EE B/ Hpr %
82 | FEHL e E BE S AIMCK500 EHL 1 £ TN AL
83 | X A e e JEbrR B 510X 410 1 ff | ekl 2, SRR
84 | BN R A b b Pl 1310 X410 1 ff | sz, 55 miysmn
85 | ¥ 7R 40 AN E R KB 1L=740 1 £ | 258484, 40
86 | ¢ ot 48 Al e K. 1=460 1 1 | 22884, ZHARAL
87 | Je o A S R ERAE 0 % | A5 EHLEE I
88 | & | B/ X E A4 e E KPE: 1=410 4 % | Q235 t4RITES
o1 89 | K i A L bR E KRE. 1=1470 1 A Tl AL R
50 90| % AKEER K KBE: L=4700 2 % |408a 1%, WRETH
Ml 91| # 7K H F g EIR AR K-FF. 1L=3600 2 % | 28#aklitN, ML
92 | ¥ B TH 500 X 600 0 1 HUH 33
93 | ¥ ERHRE K KE: 1L=900 2 lis 16#bilEN
94 | % Rl R T KPE: 1=600 1 dia 18#b A4
95 U AR B[S e 184, % 1180 12 £ Eggifﬁ_gﬁﬁﬁ
96 B 4k e A ®400-8-10-15 2 A | 5 S rRRE R
96 i E S A JEbR b E ®400-8-10-15 1 A | SRR
9% | A AR A A BR g 523000+ — {4k 1 ESS 22 kw
A UCMPAR MCTC-SCB-C 1 =
9% | A BEATHZE . B HE R 47.01 K 1 ES L ECE ]
97 | A e H R R T 2 4 o
98 | A IS i 07 S FEL Y R X BRI 1 ES
92 [ A BEYAH SR 5 /5 /10 | 1 £
ﬁ 100 | A | BT aE GEBED R G — e | 2 4
= 101 A ot A ToJR AL 7 A
;}E 102] A Tk o £ L& 1 A
103 A YU B 1 A
104 A JERYT B AR HE B =P epic) 220V / 40W 2 A
05| A afa 2 A
106 A RPS WL 2 A
107 * Gl eSS R q235, t4 2 o A
108 A HHL 255 [ 5 L= 1000 /% 10 %
109 A 1% LRSS B UPS BRI 22 kw 1 A 100A
110 A FRYRFE T R CATIE 220V / 60W 1 N
111 A FEIEST AC220V 60WA7 4 &t 8 A
E% 112 A - RUKSH K 1 A
iﬁ 113 A A ROT % LX29-7/3 0 A
12{: 114 A R 220VEikS: LEDAT:1020X40 | 4 A 3F
116 A FRAZITFS% (1370) 4 A
117 A Fu7 i 1 £
118| A LT 1 o
119 A B A [} HD/BRB 2 it
120 A = [0l B 46 240 S 2% BVARFRERIA : 16 mm? 75 K
121 A O EL 3X0.75 mm? 20 IS
122 A 2. Smm“EE LEH 28 25 X
123 A 6mm2 3 42k 25 pS
124 A P i PRI 4% BF 2R 48 P
125 A Rk 80X60X1.2 5 %
126 A LRAEEEEAR 10 s
g [127] A SR LMY, 030 38 K W55
e [ 128 A EJRRE FKmaig, @10 10 K JFiE
#1290 A R RHECL ®30 mm 4 A
1130 A R Rk ®©10 mm 20 A
131 A SRR D13, B3 6 K JRITEZH
132 A RS 3k @13, 90° 10 A
133 A =Y %Ki 200mm 200 %
134 A T SR ®6 mm 290 i
135 A L T 3 %
136 A HRLRIE (M) 46 A
137 A H (R SV5. 5-6 20 A
138 A BH (M) SV1.25-3.2 40 A
@A %30 36



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M OB K ] E

Lk

RS H2023011213-1214 B/¥/11 5 /5 / 10
RS THJ 5000kg / 0.5 — JXVF SRNRS 2600 X 5900 X 2700
IR 2 IR TR 1Ho# FIIHFRERT IO 2 2500 X 2600
A | | AR E4 s K5/ HE Z K B GFF &0 R B % IF
139 HIEF TR P 475 e A 1 392 X 2664 1 lis SEEECAIAY
- 140 | ¥ HER TR B 7 e A1 L 1 500 X 2664 4 fF | AT AL
41| % H A TR FEHER IR AT I 500 X 2664 6 1 FIF 2 KU AL
142 | ¥ JE R TIRR P27 e A1 L I 392 X 2664 1 1 CINUER T3
3P W
43| A FFITHL FFITHERE2500X 2600 (A4 |4 1771, 96kt Aifssz| 2 g | BER S OW
i) L
144 A hiEES 0 e
) | 145] % LAEIN T LIRS 2570 X800 2 F
1T [ 146 ¢ HrTHLIK 964k K K. 1=3000 0 fF IIALAE
147 % IR % TebhbriE L=490 8 %
148 | ¢ B rF1 3 U 3 2500 X 2600 Bi S L=650 H=2615 8 fF | BRI, BISE
149 | B TR R BB A KJE: L=3000 2 % KA —
150 | ¥ BiRAZE Ot 917A61-AC220 2 ES Rt
sl A 21k FFI71 %8 B 2500 X 2600 TP 9erkHIK | AR 10 P RRZEAL S OCM-
4 U vas 202A
156 | ¥¢ JZ1 TR L. SmmRHR ¥ CK3E £1.90185) 650 2615 40 ] PRI 8IS
b E i 1. SmmRBR B2 CK 3 £5.90185) B 1=2565 20 vas
157 | ¢ RES L. SmmRHR ¥ CK3E £.90185) B=50 1=2620 10 %
158 | ¢ RESDR:S 1. SmmNER B2 K3 £1,.90185) B=50 1=2620 20 s FA 52
A KN VST [ E AR 1. SHEEEIR 65%48 20 fF &Y
2 [ 159] A B kL okl fF il
i1 161 A B AR PR 80%55 lis
162 A JZ T THIK K. 1=3000 % BB
163 | ¢ JZ TR R P K. 1=3000 10 ES [MY€S
164 | ¢ ZE 1R e 2600 X 400 10 i
165 ¥ FHEH FAR 6 K KR
166 | ¢ FEIEY BN 3044 20 s L ATK/ M
167 A TR t0.5, t1.2 0 dia JE
168 A FEAR AR t0.5, tl.2 0 f B
169 | * TR E L=500 110 A
170 A SR (HLED 10 kg B 5ke
171 A FATIIK 0 kg
172 A TR 1 kg
173 A RIS 6 kg
;ﬁ 174 A bR R 1 5
175| A RESEE] ®8 mm, L=1000 10 %
176 | A i s i
177 A o e N KO 4N 2% %
5] A 4k IR IR FTER o n
179 A FMEBE B2 10 44 K 2 %
180 A AMERE G E EEHKE, L=2150 1 F
181 | A [FMEEE G E Y L=510 4 SR
Mz 182 A 1K D8N L4 %
N ]
DO R e QQ%* L2 o
185 A URIEG (M12, FLER50) S gt
186 A X B Al QSX105 Wi 28 22 A (WR$) e SRR LY £ | XEHFE: 1918

il Y

o400 e

A




b B R BRI

Lk

RS H2023011213-1214 B/%6/17] 5 / 5 / 10
ERis THJ 5000kg / 0.5 — JXVF BRNRE 2600 X 5900 X 2700
P2 - FIIFRER T PUE . 2500X 2600
S| R A A K=/ Z K AL i A YA % Ik
1| BB A 12 M20 X 60 BOoPsA . dfiEk, R IERE | 48 ESS 8.8 GAf
2 | EEHRS Fg 1B M16 X 40 B P4, Rl s RE 0 £y [
2 |FEISHRS% E,. T§# 2k M16X 40 BooP3 . h Rl SR ERE 0 S [
3 |15HE R B2 M16 X 70 fr-Pa, Bk, iBR} 50 £
4 | R LR IZ2kE M8 X 40 Br-Pak, s 1R} 30 ES
5 | $M4UHT PR M12 X 40 fir-Pa, Bk, imR) 30 £
6 TR 12k M12X45 [N i N 4 £
U B2 M8 X 45 BooP3 . Rl shIk . ERE 50 £
7[R A R S LR S A B2 M12 X 45 BU-Ph, s, R} 2 £
8 | IWLE S A0 Jh S A B2 M16 X 60 AP, Bk, imR) 20 £
9 | AR5 HL R e BEEE M12 X 45 BooPah, S IR} 0 ES
o100 (WL A 5)R At P2 M12 X 45 fi-Pa, Bk, iBR) 0 £
Ze |1 (TIHLS IR S 48 W2k M12X45 BO-Ph, s, R} 0 £
12 TINS5 TR 7 4 B2 M12 X 45 fioPa, Bk, iBR) 0 iy
13 [5% FFHUE, PREE A 1M M16X60 BooP, gk, Rl B | 80 = 8.8 A
14 [ FHRSRHA 1B M16 X 45 BT, 7R, B BRE 50 £
15 | PRS2 4 B2k M20 X 80 BOoP3, hRlER . B WERE 12 £
16 | AR SHATE . FAT R B2 M20 X 45 BOoP3 . Rl s, 2RE 0 £
17 | $iAE 5 h AT e 2 EEM20 B2 X P, g 3XUERE | 0 E EREE 4
18 [Fikr ShittH H2EE M20 X 90 AP, Bk, imR) 8 £
19 |JRAEERE B2k M20 X 50 BOF3A . G RbER . BREk . IERE 14 £
20 |JEAL S HIRAEEN P2 M16 X 40 BOoP3 . Rl shIk . IERE 16 £
21 BRI THbIR 5 H IR AN B2HE MI12 X 40 AP, Rl gpds R 0 = | BpEe, 1R
22 |# 5 5K TIPSR B2 M12 X 45 fi-pa, Bk, mR) 2 £
23 |BERR S R4 12k M8 X 30 Bo P, gk W2RE, R | 80 ES
s 24 |BENRIEE: (RERRIZZZ) B2 M6 X 20 fr-Pa, Bk, iBR) 308 | BERigY GO
e |20 [HTEERR SR 12k M8 X 20 B P, gk, iBig 6 £
= | 26 |BER SERTIR B2 M8 X 30 fii-Pa, Bk, BR) 70 iy
TR 2 12k M8 X 30 BroPh, S MR} 144 ES
97 FeREE OKIEE) 127451 S FEML6 X 120 FFE R S, IBRE | 130 53 TEEE
Rl e OKBE) 7551 B RKIZAE M12x 120 AR, s, B [ 162 % 4T
08 eI e (hEHE) ZFEREIEHE M16X 280 BT CPRGEEL . IBEE | 108 53
FERD [ 2 (hEHE) ZEHE ISR M12X 280 BRI PG ERE | 142 * K004-9
99 TURER (58D H2EE M16 X 55 AP, Bk, imR) 190 £
3 YOREE (634180 B2 M12 X 45 Br-pah, s R 290 £
L7/N 30 EPERD PEH M16 X 55 AP, Bk, iBR) 150 =
B L D IEH M12 X 45 Bo-Ph, s, R} 290 S 8K
31 |EIHUERD WA M12X45 fil P, sl WERE 140 = TK5A
39 FPEFR IZkE M16X55 BT, gk, d2R) 176 =
A Bh LS BEAR P2 M12 X 45 fr-Pa, Bk, iBR) 352 £
33 |EPUERAR JEHE M10 X 30 BU-P, s, R} 176 B
34 X R B2 M10 X 40 fioPa, Bk, iBR) 4 i B 2 Lo D
W 35 [ EAEXE S B244 M10 X 30 fo P, pfisk, 2k} 30 S
36 | x5S i Af H2EE M8 X 25 fio-P-3, Bk, Bk} 8 £
37 X ARG PR B M10 X 25 BO-P, s R} 30 £y
JRIt| 38 [ZZihaR SRt ERKIZR M12x120 BUoPaR, gk, IR} 12 z WM 5%
AR | 39 [PRIFAS PR AR e 12k M8 X 25 Br-Ph, S MR} 4 ES
TR 40 | PR 2% R[] 52 KB R M10 X 80 AT E L R IRR 0 X w5
41 | B PR e 2 20 e R < e 12k M10X 25 Br-Pa, ., IR} 12 £
s 42 |WPR 7315 SEUERY 2K M16 X 55 BOPaR, gk, JER) 12 = T13K
S| 43 B S g 2R M6 X 20 ALFE P, B, i8R | 18 ESy
44 |FRRIARCCEE S SRR B2 M16 X 55 B T, gk dER} 18 = T13K
% 45 |FEHLAEE FEHL M24 X 140 ST, B, R, g 4 = 8.8 %%
” 46 | EHLE S = B2 M8 X 25 fr-Pa, Bk, iBR) 4 £
M 47 | B 5I NI R/RKIRE M12x 120 I TRE, Fhsk, 2R 12 * B4
48 | T 5 [ g BEHEM20 X 80 BRI PRI XUERE 4 S 8.8 %%
49 | FE A [ A 24 M10 X 80 AFEFEAE . g, iERE 4 X PR
50 |FHiE s 28 [ e JKIBET 4X40 209 52
- 51 EHITF R E B2 M6 X 30 ARG L gk B R 8 =
Zog |52 |HRTUA AR I s 2K M8X 25 WP i, g | 4 =
53 |ERYURAEHE & M EEAE M8 X 80 AFETH 8 . B IRF 4 X TE A 4%
54 |BuE & e Ak 2K M8 X 80 IR, Fpk, 18R 4 % B 4%
55 | M L[] e ZBKIZIE M12x120 AFETEE  E 18R 8 53

il Y



Skyfree
Skyfree:
114轨用M16X55

Skyfree
Skyfree:
114轨用M16X55


R - S R - .

Hpegm B H2023011213-1214 B//17]
RS THJ 5000kg / 0.5 - JXVF BRARS 2600 X 5900 X 2700
Ik - FIIHRER T 2500X2600
75 b R A s /R R B O &I Bk AL % E
56 | 155 LG AR [ [ IZAE M8 X 80 IR, Fpsk, 18R 4 53 Hm A 5
57 |MERLEEHE I & IKIBET 4X40 202 b
60 | ERUKSH X [E & [F LRk M5 X 40 AFEFEAE . SR, MBRE =
61 |t IT 5 [E E 5] S 242 M5 X 40 ALFE T E . B 18R 3
62 [{ZH H3hTFEHERE K2 M8 X 80 A THE ., Bk, IER 53 w4
63 |ML5LilifE K8 M6 X 50 ALFEFE R L SRE WREE | 25 X Himf s
64 | W5 LemlER: 12k M6 X 25 40 £S5
65 | ZAl i il e H B2 M4 X 10 60 53
66 | BRI & A AR B2HE M10 X 25 BioP, B 0 £
67 [N S51TR %% 1B M10X 30 [N NS 4 '
63 BRI AR S IR BT R VUELEEKE M5 X 20 (R e I 118 i 2R
BRI AR S S 1M M8 X 25 [N NS 10 '
Hhk 12k M10X 25 B P, g, Rt 88 5
69 |II#E 51 TR %% 1B M10X 25 R 0 '
70 |FUIAR RS R 12K M8 X 25 PSP, gk, MERE 10 5
71| B g ik 2 M8 X 100 ARG . B R | 60 =
72 | B S RT3k B2k M10X 30 IR, Jsk, 18R 5
73 21150k 5K B2 M10X 30 AFET R, R i3
74 |18 12k M8 X 35 P P, 5
BT 2 M8 X 30 BT, B IR 46 i3
75 | E M-S K 12k M8 X 25 A H | B 0 £
76 | HUIRFLLE IR 1V e FEIEERAKEE M12x120 AFEFHE . BB, WgBE [ 220 ES T4
77 | THERR 2% B2k M10X 30 ALFE P s, IBR 0 ES FEER]
A HBE22 M5.5X 19 40 =
78 | ke RS X 100 ” P
79 |y Rk g v 2[5 LR 22 M6 X 25 AFETHE . EE 24 i3
- o B2HE M6 X 16 ALHE T2 B Ll £ X
80 |I IV TR 223 prpeSTHEYNIY = BRI
82 |17k 4 FIEEERAKEE M12x120 AT #s, B | 30 5
83 |XfH NG X E A B2 M16 X 60 BT, R, B8 18R o 3
84 fh S hE A MI0X 80 &t P g} 0 5
85 EHER ARy B2 M6X 35 AR . SE, WEBE [ 145 3
86 EEE R R B2 M5 X 50 QRGP s, B | 44 A

il 0




